Atz E kOB L& R (L F)

I FHfE T 1 T H & 3l AT HF
T F 4 FHETHERE 2 —TROR B2 —  KIETHE
T % &% FHE T FJFAE L2 2 — TR DR 2 — |
B AL £ A R 648 H 30 H K HE A A 649 H 30 H
TS m 151,900,000/ (Bit)
A s Y A B 139,748,000/ (Bifk) I A Y i A% 131,790,000/  (Hi4k)
fEfk 2 —B RCIEEEE A=1878.7nf
R TE SIEEERE A=63.301
<RV CBIEEERE A=4.5nf
T BT paumers
2.2n—7 @& AL A=35.3ni[#Hik
# % % plEAL B A %
REPAEER Rt 138,000,000 FL
MRt AREELHE 150,000,000
BRASAE ARH TH G 155,000,000
HEARHR L st 182,000,000
At HELTHEIE 131,000,000 &
HASH LB iR
MR stk B
AT MRt iR

S IREPAEERR MRt

L3 P AE S R PHE A B BT SEAR217-3

Z K & | 151,800,000/ (5 HiH#FLFH Y 4H 13,800,000 )

& F A A AF6E10A 1A 5 kA H AT A 25 H




AN = nZEE K OB AL & (T F)
T f % = FHUF TH15 T F f B T
Tr = % L1 S T T R bR R i 5 TR T
T %= %5 7r PR i AT L e P
Bl AL £ H H A 68 H30H LK HE A H A 64E9 H 30 H
?%% ,ﬂﬁ;;‘ 156,600,000/ (%)
AT EL YE A RS 144,072,000  (Fith) IR Y I A 136,053,000/9  (Bitk)
TSRS (i 5 SE T =
IIET Tk RCIE3MEE: ZERMmFE 4,109.8nd
RREEE T MG IE T, AR L —X
T F #f =
. % 1| A KL E N
E e 4 e i 4 28 =
AT At 148,800,000 % FL
ARG T st 152,240,000/
AL HETHEE 164,200,000
AL HRETHIS 132,000,000 KO

%O E & ARG Bt

L3 P AE o U PR L P T LA 108

Z K & | 163,680,000/ (5 HiH#FLFH Y 4H 14,880,000 )

& F A A AM6FE10A1H 5 kA H ARTHESH30H




ALz InmEH K O R (T FE)

T F & 5 FHER L9 % T H & j B
T #H 4 P NER AV T
T+ % pr FPHE TS VE/NFAR
Bl AL 4 H R A FI64E8 A30H K EH A TFI64-9 H 6 H
?;% i@ﬁ?ﬁ 10,580,000 (Bifh) | e A5 bl R AT - (Bidh)
HBETEH
MMLT7 —2fE 9T
%&%é&f}?ﬁifw o
T % oM o *&:;ﬂ%;}%kgﬁ*ﬁm L0 T
FafEgsEE L 136 PT
Ver#s H #8kfe(b 5EET
% # 4 prEAL AR o
AT AR BRaUath 7,390,000 % AL
Ptk KA 7,850,000
F—rAEx st 8,500,000
A& tt v~b 9,000,000
At R THNL 10,140,000
HheipdE L HRalatt 11,590,000
ARt B R IR
RS AR [F e
BRA St EHE SRR R IR
% L #H 4 G ERei i S vea s o
VAL T AE He P T (L R T 43 108
2K & @ 8,129,000 (5 HLIHFBIAH M4 739,000F7 )

A B4 A H SF6E9HTH

€ A A H

SF6F12A17H




ALz InmEH K O R (T FE)

T F & = FHAETELS T = f 3l EE T

r = % FH w8 D AR B D 4 T (2 01)

T %= % 7 PHEE T N PR 0 BN

B AL 4= H H AF64E8 H 30 H ZLKAE AR SFI6E9H9H

Ly 11,155,000/ (Bifh) | e A6 i) R 1 14 9,970,000/ (Bidh)

AEET 3
R T 5
BEE L K
—EAJEEEfE T —=X
LB R mmmg T
B LA T
AR E T 2

X T —3(

Rt KR 9,970,000/ < U
ST 1 9,970,000 < U
PRI BRI AL 9,970,000 < U
PR =Rk 9,970,000 < U
BASH KA 9,970,000 PEFL(CL)
RS KAa# 9,970,000 < U
A RETH 9,970,000 <
PRt AP 9,625,000 KO
AT AR Bk th 9,918,000 KK
Bt mp 9,932,000 KO
AR EARTEIE 9,932,000 K
ESEESS:ie 5 i ST 9,967,000/ KO
ARt Kk b wEIR
EARERR BRAS BE iR

% L& A Azt KR

Vi AL P (£ H Lo PR oK BT T752838-2

o8 & M 10,967,000 (95 HIEEBIFHML%E 997,000 )

A B4 A H SF659H 10H 5t 4 H H SFTHELIALTA




ALz InmEH K O R (T FE)

T # % &5 R T2 T & f& 5l B B iE Lo
T #H 4 THEFEIR T HSETHE
T+ % pr FPHE K BR8N
Bl AL 4 H R A FI64E8 A30H R E AR ASFI6E9A10H
?;% i@ﬁ?ﬁ 10,002,000/ (Hitk) %Lﬁ;ﬁ%ﬁﬁ"g*‘? 7,956,001 (Bisk)
KPR 7 HH 16
AR R —3
AEPHER AL BT —3C
T F # =
RS T 8,200,000 % AL
HfeipE T st 9,480,000
At =F VU Tyr R R IR
AT HRalatt [ e
A SR R IR
% L EF A4 At Ty
Yk KL P AE e T AR oK _ERT 47422310
2K & @ 9,020,000/ (9 B # BiAH 2 %H 820,000 )
# FHE A H 649 H 11 A & F A H AFTH3H 14R




ALz InmEH K O R (T FE)

T # % &5 R T A T =% f& jl B B iE Lo
T #H 4 R ALK e T
T+ % pr FPHE K _ERT 8 HN
Bl AL 4 H R A FI64E8 A30H K EH A ASFI6E9A10H
VI 2 e
KEHRR 7 N=1H
ROE - FEE T —3U
T ok M om BT
MRS B 12,800,000 % AL
HfeipE T st 17,980,000
At =F VU Tyr R R IR
AT HRalatt B B
A SR R IR
% L #H 4 A W
VAL T AE He S R SFE K ERTAFF897-1
2K & @ 14,080,0001 (5 HIHFBIAH M4 1,280,000 )
# FHE A H 649 H 11 A & F A H AFTH3H 14R




ALz InmEH K O R (T FE)

T # % &5 ERLH215 T =% f& jl R
T F 4 B AL A A LR Al s T
T =+ 5% 5 PR i S BT AL A N
Bl AL 4 H R A FI64E8 A30H K EH A AF6EIH9H
(%%% ,ﬁﬁ%ﬁ 10,423,000 (Bi4k) 5 AR 1) R A A% 9,277,000 (Bi4k)
i THER 1=409.4m
HiidE T
#JE A=1,700nf
Lo 8 = E?gjfjv:vﬂm L=790m
FHR W=450 L=3m
F CF L=20m
ARt Kk b 9,277,000 < U
B &tE ok LB 9,277,000 < U
A PRE A 9,277,000 < U
Bt B 9,277,000 < U
BRA St SKE TS 9,277,000 < U
PRt AR 9,277,000 < U
HUNEERE 5 Qi v o 9,277,000 < U
[ EaVes S = S B N 9,277,000 < U
HASH U SRR 9,277,000 < U
AR At 9,277,000 < U
Bt TRfda 9,277,000 < U
Bt AR LB)E 9,277,000 < U
ATHER HRalatt 9,277,000 HHL(LL)
% L #H 4 G ERei i S vea s o
VAL T AE He P T (L R T 43 108
2K & @ 10,204,700 (5 HIHFBIAH S % 927,700 )
# FHE A H 649 H 10 A & F A H 612413 H




ALz InmEH K O R (T FE)

T # % &5 EfR L2 T =% f& jl R
T F 4 MIETTE65 5 Sl EiE L9
T =+ 5% 5 PR T AR T A5 P
Bl AL 4 H R A FI64E8 A30H K EH A AF64E9 H6 H
(%%% ,ﬁﬁ%ﬁ 10,015,0001  (Bitk) 5 AR 1) R A A% 8,913,0001  (Bitk)
i THER 1=252.3m
FE i EIEI T A=1,640m1
#BT A=1,640ni
T % oM o XHE#R T L=600m
At vl 8,913,000 < U
7S VET S | i1 8,913,000 < U
IRt B 8,913,000 < U
PR =Rk 8,913,000/ < U
A=t KA 8,913,000 < U
eFnER MRt 8,913,000 < U
HASH Kai 8,913,000 < U
BRX&tt ~= 8,913,000/ < U
SRR S v o 8,913,000 < U
BRI 8,913,000 < U
R th 7V — ek 8,913,000 (L)
7 SEVES T RN B/ 8,913,000 < U
PaIEELE Rt 8,913,000 < U
NEER KRt 8,913,000/ < U
Bt 7Ty —o R 8,913,000 < U
HEARHRL¥E st 10,015,000/
TR Rt 8,881,000/ KO
% L #H 4 R tt ZU— Rk
% FL A BT AE e S e IR PHBE o L P T /N [ 14581
2K & # 9,804,300 (5 HLIHFBIAH A 891,300 )
# FHE A H A6 A TH & F A H 6412 H5H




fEA4 XA kOB ALRR(OT F)

T F & & TLLELS T F & 5l BERLHE

T %= 4 TR bt 2 — G L (2R Bk di)

T # % pr e 2 —

B AL £ H R 648 A 30 H 2K HE A A TF6FEIH 5 H

T OE i A% 6,623,000/  (Hi4k) Fi AR ) R Al £ 5,951,00019  (Bih)

BB R —3K
T F # =
AR E A (AL X 4 ZUEAL AR o

HEIRE T BRAUAAE 5,959,000 % AL
et 7Ty s A 5,962,000
F—rAdER At 5,970,000
AT R B £t 6,033,000
HRstt 7o 6,040,000
PR AE TEE AUERR 5,950,000 x &
fREL KAttt BB
LI AR &
PRt g BB
MRl BARER wE IR
va—a—ER ARt N
g st wE IR

%L & 4 HifeiaE L pRlatt

VAL P LE T UL P 1 75 ST TP 215646

S O 6,554,900 (9 HIHEBIAH %0 595,900 )

A FHE AR TRI6EI A6 H 7R 4 A H AFITAE3H 25 H




SRR SO

Lo R (T %F )

T F & & TLLEI4S T F & 5l AT H
T %= 4 NIHBCR T HF 204 (FH)
T # % pr FHEE 7 1L P BT B H PN
B AL £ H R A F64E8 A 30 H 2K HE A A TF6FEIH 5 H
T OE i A% 7,523,000/ (Bitk) Fi AR ) R Al £ 6,713,000/  (Bitk)
FIME LT N=64{& T
FTRRE L (HER) N=1f&77
F9miE L (D) N=63f&HT
T F # =
B4k E L (AL EH L) ZUEAL AR o
Bt KRE 6,713,000 < U
HHET ~my7 Aot 6,713,000/ < U
L7 SEVES S i 22 i) 6,713,000 < U
Mt KA 6,713,000 < U
st KA 6,713,000 < U
BRI AU R 6,713,000 #FL(LL)
L7 SEVESS MR (oY (RE < 53'¢ 6,713,000 < U
Rt il 6,713,000 < U
RT3 Rl th 7,500,000
L5 VS s | ot 5 e SR
o R Rt B IR
L BpE BRAE AL wE IR
MR th e BB
%L & 4 PRt R AU R
% KL & P A He T B PR ok BB A A421763-8
2K & # 7,384,300/ (5 HiHEBIAR Y 4H 671,300/ )
#FHE A H TRI6EI A6 H 7R 4 A H AFITHELA 13 H




fEA4 XA kOB ALRR(OT F)

T # & 5 KN T 5125 T H & 3l Ptk o B T
T F 4 RS R AR e R EAF B AR T L
T = % 7 =R
Bg AL £ A R A F64E8 A 30 H K HE A A SF6HIHSH
TOE i A% 1,390,000  (#i+k) e AR ) R A £ - (B4
B EROKGRE AR 42 KUE EBY T R
100A: 15
150A:3%
250A: 11
T F # =
B4k E L (AL EH L) ZUEAL AR o
REASH: B R 1,110,000 % fL
HYEETL et 1,260,000
b BRI T BB
BRASE W RER
AT AR ARt BB
&I Rt wE R
w O E 4 Rt B
¥ KL T 1E S UL PR oK RTRE 80710
2K & # 1,221,000/ (9 HiEE R Y4 111,000 )
#FHE A H HF6HEIA6H 5 A AE A H 641220 H




SRR SO

Lo R (T %F )

T % & = TS T %= f 3l AR THE
T F 4 () I i) HERE L5
T % % FHEE 1 75 FE TG N
Bg AL £ A R A F64E8 H 30 H K HE A A SF6HIHSH
ToE Ml A% 2,122,000/  (Hi4k) F5c ALK 1) R A 1,872,000M  (Fifk)
i THER: 1.=10.95m
a7 =7 ay /R A=13.0nf
/A k2
T F # =
AR E A (AL X 4 ZUEAL AR o
REA S AR 1,872,000 < U
it F TSR 1,872,000 < U
st B0 LS 1,872,000 wHL(L)
MRS =VERA Garden 1,872,000 < U
SRR .
LA 5] N &
PR 467 1ok P
L N N i a4 Fe o R
At PR —7T ~ &
w O E 4 RSt B0 THIS
7 FL 3 PTAE o Jo UL P T 7 T A 1281
2K & #W 2,059,200/ (9 HIHEBLFH Y% 187,200M )
H#FHEHAH HF6HEIA6H 5 A AE A H AFN64E11 A 14H




fEA4 XA kOB ALRR(OT F)

T # & =5 T 195 T %= f 3l FAR—KTE

T = 4 () = )1l ) IERE T (£ 02)

T # % pr FHE K _ERTHEy Hi

B AL £ H R A F64E8 A 30 H 2K HE A A TF6FEIA3H

T OE i A% 5,864,000/  (Bitk) Fi AR ) R Al £ 5,238,000/  (Bitk)
it TAER: 1=14.0m
2/ —hTay /R A=28m
/NAIET. N=22&

g E IREE AT N=30%

AR E A (AL X 4 ZUEAL AR o
AR Rt 5,238,000 < U
A B AR 5,238,000 < U
HABLRE PRt 5,238,000 < U
L Ve S o 5,238,000 wAL(KL)
KT st 5,238,000 < U
BIREt EATHIE 5,238,000/ < U
BRtt ILIARHERR 5,239,000
T gk 5,864,000
PRASAE BAER i 5,237,000 PN
A TUH wE IR
FHE RS B IR
A&t B R R

%L & 4 7 S R o

VAL P LE S PR T AR AT HA 5 2197-16

2K & # 5,761,800/ (5 HiHEBiAH Y%A 523,800 )
#FHE A H TRI6FEIH 4R 7R 4 A H 6412 H 27 H




fEA4 XA kOB ALRR(OT F)

T % & = EET 235 T %= f 3l AR THE
T F 4 B F SR B R T (2 03)
T % % FHEE T B HT BN
Bg AL £ A R A F64E8 A 30 H K HE A A SF6HIH3A
ToE Ml A% 2,741,000/ (Bitk) F5c ALK 1) R A 2,442,000/  (Bitk)
i TAEf: 1=25.1m
MET L=13m
AR T A=205m
BAIEAR T L=12m
T F # =
B4k E L (AL EH L) ZUEAL AR o
MRt EASER A 2,442,000 < U
S FnB e 2,442,000 L)
BV kR BRA St 2,741,000
27T R—0 &t 2,741,000/
RSt Sl BB
ST N
T 71 TR [T
B4 07 ERR R
% AL H 4 SR
¥ KL T 1E T WP i B BT 22111030
2K & # 2,686,2001 (5 HIHABIH Y EH 244,200 )
#FHE A H HSF6HFEIA4H 5 A AE A H 6411 A 22H




R4 X2E M OCRAALRER (LT HFE)
T = & =5 ER L2475 T % & »l HhdE T
T F 4 TIIEHT) I8 S (shE T
T %= % pr FHE AR H BT A7 I
B AL £ A A 648 H30H 2K HEH A TFI649 H 4 H
T OE Mk 4,779,000/  (Bitk) AR ) PR Al 4% 4,250,000/ (Bitk)
fii THER 1=162.1m
BEE T A=T34nd
DXH#R T L=252m
T # # =
B EEL (ALEX4) prEAL LT A R s
A& tt v~h 4,250,000 < U
IRt B 4,250,000 < U
PR = IRHEEER 4,250,000/ #AL(L)
A =tt KA 4,250,000 < U
RS KA 4,250,000/ < U
EARR T At 4,250,000 < U
BRX&tt <= 4,250,000/ < U
SRR S v o 4,250,000 < U
Bt e 4,250,000 < U
Bt 4,250,000 < U
Pl Bt pE Rt 4,250,000 < U
At Ty —s2 4,250,000 < U
7 Favee T | 4,268,000/
HfeinE L st 4,510,000/
RSt 7V — R 4,769,000
Fnatar MRalatt 4,779,000/
PRt P R
AR st T
% L #H 4 BRtt =tk
Yk KL P AE H FE i PR T L R AT 45112129
2K & # 4,675,000 (5 HIHFBIAH % 425,000 )
# FHE A H 649 H 5 H & F A H 6412 3R




